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çÙÎðüàæ	 Ñ	 (i) 	 ÂýàÙ ·ý¤×æ¢·¤ v ßSÌéçÙcÆU ÂýàÙ ãñUÐ §â×ð´ ¹‡ÇU (¥), ¹‡ÇU (Õ) °ß¢ ¹‡ÇU (â) 

àææç×Ü ãñ´UÐ ÂýˆØð·¤ ¹‡ÇU ×ð´ z ÂýàÙ ãñ´U ÌÍæ ãUÚU ÂýàÙ ÂÚU v ¥¢·¤ ¥æÕ¢çÅUÌ ãñUÐ ÎëçcÅUÕæçÏÌ 

çßlæÍèü ÂýàÙ ·ð¤ âæÍ çÎ° »° çÙÎðüàæô´ ·¤æ Öè ÂæÜÙ ·¤Úð´UÐ

Instructions	 :		 Question No. 1 is objective type question. It consists of Section (A), 

Section (B) and Section (C). Each Section has 5 questions of 1 mark 

each. Visually impaired students follow the instructions as given with 

the questions.

		  (ii) 	 ÂýàÙ ·ý¤×æ¢·¤ w âð { Ì·¤ ¥çÌ Üƒæé ©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ÂÚU w ¥¢·¤ ¥æÕ¢çÅUÌ 

ãñ´UÐ (ÂýˆØð·¤ ©UîæÚU ·¤è ¥çÏ·¤Ì× àæµÎ-âè×æ x® àæµÎ ãñU)

	 		  Question Nos. 2 to 6 are very short answer type questions. Each 

question carries 2 marks. (Maximum word-limit of each answer is 

30 words)

Name	 : ................................................................................................................................

Roll No. : ................................................

·é¤Ü ÂýàÙô´ ·¤è â¢BØæ Ñ 18 ]	 [ ·é¤Ü ×éç¼ýÌ ÂëcÆUô´ ·¤è â¢BØæ Ñ 11
Total No. of Questions : 18 ]	 [ Total No. of Printed Pages : 11
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çßáØ Ñ çß™ææÙ
Subject : Science

â×Ø Ñ 3 ƒæ‡ÅðU ]	 [ Âê‡ææZ·¤ Ñ 75
Time : 3 hours ]	 [ Maximum Marks : 75

ÙôÅU Ñ âÖè ÂýàÙ ãUÜ ·¤èçÁ°Ð
Note : Attempt all questions.
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ÂýàÙ-v	 (¹‡ÇU-¥)  âãUè çß·¤ËÂ ¿éÙ·¤ÚU çÜç¹° Ñ			   [1×5=5]
	 (Section-A)  Choose and write the correct option :

	 (i)	 âêØü ®  ÏæÙ ®  ¿êãUæ  ®  âæ¡Â

		  ©UÂÚUæð@Ì ¹æl oë¢¹Üæ ×ð´ ©UˆÂæÎ·¤ ãñU Ñ

		  (¥)	âêØüU	 (Õ)	 ÏæÙU

		  (â)	 ¿êãUæ	 (Î)	 âæ¡Â

		  Sun ®  Rice ®  Rat ®  Snake 

		  The producer in the above food chain is :

		  (a)	 Sun	 (b)	 Rice

		  (c)	 Rat	 (d)	 Snake

		  (iii) 	ÂýàÙ ·ý¤×æ¢·¤ | âð v® Ì·¤ Üƒæé ©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ÂÚU x ¥¢·¤ ¥æÕ¢çÅUÌ ãñ´UÐ 

(ÂýˆØð·¤ ©UîæÚU ·¤è ¥çÏ·¤Ì× àæµÎ-âè×æ z® àæµÎ ãñU)

		  	 Question Nos. 7 to 10 are short answer type questions. Each question 

carries 3 marks. (Maximum word-limit of each answer is 50 words)

		  (iv) 	 ÂýàÙ ·ý¤×æ¢·¤ vv âð vy Ì·¤ Üƒæé ©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ÂÚU y ¥¢·¤ ¥æÕ¢çÅUÌ 

ãñ´UÐ (ÂýˆØð·¤ ©UîæÚU ·¤è ¥çÏ·¤Ì× àæµÎ-âè×æ |z àæµÎ ãñU)

			   Question Nos. 11 to 14 are short answer type questions. Each question 

carries 4 marks. (Maximum word-limit of each answer is 75 words)

		  (v) 	 ÂýàÙ ·ý¤×æ¢·¤ vz °ß¢ v{ Îèƒæü ©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ÂÚU z ¥¢·¤ ¥æÕ¢çÅUÌ ãñ´UÐ 

(ÂýˆØð·¤ ©UîæÚU ·¤è ¥çÏ·¤Ì× àæµÎ-âè×æ v®® àæµÎ ãñU)

			   Question Nos. 15 and 16 are long answer type questions. Each question 

carries 5 marks. (Maximum word-limit of each answer is 100 words)

		  (vi) 	 ÂýàÙ ·ý¤×æ¢·¤ v| °ß¢ v} Îèƒæü ©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ÂÚU { ¥¢·¤ ¥æÕ¢çÅUÌ ãñ´UÐ 

(ÂýˆØð·¤ ©UîæÚU ·¤è ¥çÏ·¤Ì× àæµÎ-âè×æ vz® àæµÎ ãñU)

			   Question Nos. 17 and 18 are long answer type questions. Each question 

carries 6 marks. (Maximum word-limit of each answer is 150 words)
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	 (ii)	 ÏæÙ ·¤è ¥çÏ·¤ ç·¤S×ð´ ÂæØð ÁæÙð ·¤æ ·¤æÚU‡æ ãñU Ñ

		  (¥)	 Âýæ·ë¤çÌ·¤ ¿ØÙ

		  (Õ)	 Ú¢U» ¿ØÙ

		  (â)	 ·¤æØü ¿ØÙ

		  (Î)	 ·ë¤ç˜æ× ¿ØÙ

		  Most varieties of paddy are found due to :

		  (a)	 Natural selection

		  (b)	 Colour selection

		  (c)	 Work selection

		  (d)	 Artificial selection

	 (iii)	 ¥Ë·¤æðãUÜ ·¤æ âæ×æ‹Ø âê˜æ ãñU Ñ

		  (¥)	 C2 H2	 (Õ)	 COOH

		  (â)	 CnH2n+1OH	 (Î)	 CnH2n+2

		  General formula of alcohol is :

		  (a)	 C2 H2	 (b)	 COOH

		  (c)	 CnH2n+1OH	 (d)	 CnH2n+2

	 (iv)	 ÂèÌÜ ç·¤Ù ÏæÌé¥æð´ ·¤è ç×ŸæÏæÌé ãñU?

		  (¥)	 Cu + ZnU	

		  (Õ)	 Cu + Sn

		  (â)	 Al + Cu	

		  (Î)	 Fe + Cr¤

		  Brass is a alloy of which metals?

		  (a)	 Cu + Zn	

		  (b)	 Cu + Sn

		  (c)	 Al + Cu

		  (d)	 Fe + Cr
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	 (v)	 ç·¤âè »æðÜèØ ÎÂü‡æ ·¤è È¤æð·¤â ÎêÚUè ©Uâ·¤è ß·ý¤Ìæ ç˜æ…Øæ ·¤è ãUæðÌè ãñU Ñ

		  (¥)	 1
4

	 (Õ)	
1

2

		  (â)	
1

3
	 (Î)	

1

8

		  The focal length of a spherical mirror to its radius of curvature is :

		  (a)	 1

4

	 (b)	 1

2

		  (c)	 1

3
	 (d)	 1

8

ÂýàÙ-v	 (¹‡ÇU-Õ)  çÚU@Ì SÍæÙô´ ·¤è ÂêçÌü ·¤èçÁ° Ñ			   [1×5=5]

	 (Section-B)  Fill in the blanks :

	 (i)	 NaOH °·¤ ——— ÿææÚU ãñUÐ

		   NaOH is a ____ base.

	 (ii)	 ÅUæò¿ü ·¤æ ÁÜÙæ ÚUæâæØçÙ·¤ ª¤Áæü ·¤æ ——— ª¤Áæü ×ð´ M¤Âæ‹ÌÚU‡æ ãñUÐ 

		  Lighting of a torch is conversion of chemical energy to ____ energy.

	 (iii)	 ——— ãUæò×æðüÙ ÂæñÏæð´ ·¤è Ü`Õæ§ü ×ð´ ßëçh ·¤æð ÂýðçÚUÌ ·¤ÚUÌæ ãñUÐ 

		  ____ hormone induces growth in length of plants.

	 (iv)	 ÂçÚUÙæçÜ·¤æ ·ð¤ ¥‹ÎÚU ¿é`Õ·¤èØ ÿæð˜æ ——— ãUæðÌæ ãñUÐ 

		  Magnetic field inside a solenoid is ____.

	 (v)	 CH3COOH ×ð´ ç·ý¤Øæˆ×·¤ â×êãU ——— ãñUÐ 

		  Functional group in CH3COOH is ____.
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ÂýàÙ-v	 (¹‡ÇU-â)  ©Uç¿Ì â`Õ‹Ï ÁôçÇ¸U° Ñ			   [1×5=5]

		        (·¤)		     (¹)

	 (i)	 âðÕ		  -	 (a) 	 ¥ßÌÜ ÎÂü‡æU

	 (ii)	 âËÈ¤æ§ÇU ¥ØS·¤¤	 -	 (b) 	 310 K

	 (iii)	 àæÚUèÚU ·¤æ ÌæÂ	 -	 (c) 	 ¥æØÚUÙ Âæ§ÚUæ§ÅU¤

	 (iv)	 ÅUæò¿ü, â¿ü Üæ§ÅU	 -	 (d) 	 ¥ÂƒæÅU·¤

	 (v)	 âêÿ×Áèß	 -	 (e) 	 ×ñçÜ·¤ ¥`Ü

	 (Section-C)  Match the following :
		              (A)		                (B)

	 (i)	 Apple	 –	 (a) 	 Concave Mirror

	 (ii)	 Sulphide Ore	 –	 (b) 	 310 K

	 (iii)	 Body Temperature	 –	 (c) 	 Iron Pyrite

	 (iv)	 Torch, Search Light	 –	 (d) 	 Decomposer

	 (v)	 Micro-organism	 –	 (e) 	 Malic Acid

ÂýàÙ-w	 ©UˆÂæÎ·¤ ç·¤âð ·¤ãUÌð ãñ´U?			   [2]

	 What is called producer?

ÂýàÙ-x	 âæðÜÚU ·é¤·¤ÚU Õæò@â ·¤æð ¥‹ÎÚU âð ·¤æÜæ Ú¢U» ç·¤Øæ ÁæÌæ ãñUÐ â×Ûææ§° @Øæð´Ð	 [2]

	 Solar cooker is painted black from inside. Explain why.

ÂýàÙ-y	 ×ŠØæqïU ÖæðÁÙ ·¤ÚUÌð â×Ø ÍæðÇ¸Uè-âè âµÁè ·é¤âé× ·ð¤ ·¤ÂÇ¸Uæð´ ÂÚU ç»ÚU »§üÐ ƒæÚU Áæ·¤ÚU 

ÁÕ ©UâÙð ©Uâ SÍæÙ ÂÚU âæÕéÙ Ü»æØæ, Ìæð ·¤ÂÇ¸Uæ ÜæÜ ãUæð »ØæÐ §â·¤æ ·¤æÚU‡æ â×Ûææ§°Ð 	 [2]

	 While eating mid-day meal, some vegetables fell on Kusum’s clothes. 

She went home and rubbed some soap on the spot which turned red. 

Explain its cause.

ÂýàÙ-z	 PVC ·¤æ ÂêÚUæ Ùæ× çÜç¹°Ð 			   [2]

	 Write full form of PVC.
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ÂýàÙ-{	 Îèƒæü ÚUæð× (çßËÜæ§ü) ç·¤âð ·¤ãUÌð ãñ´U?			   [2]

	 What is called villi?

ÂýàÙ-|	 »éŒÌ ª¤c×æ ç·¤âð ·¤ãUÌð ãñ´U? §â·ð¤ Âý·¤æÚU ·¤æ ·ð¤ßÜ Ùæ× çÜç¹°Ð 	 [2+1=3]

	 What is latent heat? Write only the name of its type.

ÂýàÙ-}	 ¥æÖæâè ÂýçÌçÕ`Õ ¥æñÚU ßæSÌçß·¤ ÂýçÌçÕ`Õ ×ð´ ÌèÙ ¥‹ÌÚU çÜç¹°Ð	 [1+1+1=3]

	 Write three differences between virtual image and real image.

ÂýàÙ-~	 çßléÌ÷ ×æðÅUÚU @Øæ ãñU? §â·¤æ çâhæ‹Ì çÜç¹°Ð			   [1+2=3]

	 What is an electric motor? Write its principle.

ÂýàÙ-v®	 Áèßæð´ ·ð¤ çß·¤æâ ·ð¤ çâhæ‹Ì ·ð¤ ÌèÙ ×éBØ çÕ‹Îé @Øæ ãñ´U?	 [1+1+1=3]

	 What are the three main points of the theory of development of 

organisms?

ÂýàÙ-vv	 ¥æÙéß¢çàæ·¤è ·¤æ ÁÙ·¤ ç·¤âð ·¤ãUæ ÁæÌæ ãñU? ©U‹ãUæð´Ùð ç·¤â ÂæñÏð ÂÚU ¥ÂÙæ ÂýØæð» ç·¤Øæ? 

©Uâ ÂæñÏð ·¤æð ¿éÙÙð ·ð¤ Îæð ·¤æÚU‡æ çÜç¹°Ð			   [1+1+2=4]

	 Who is called the father of genetics? On which plant he used his 

experiment? Write two reasons for the selection of that plant.

¥Íßæ 

OR

	 â×ÁæÌ ¥æñÚU â×ßëçîæ Üÿæ‡æ @Øæ ãñ´U? ©UÎæãUÚU‡æ âçãUÌ â×Ûææ§°Ð

	 What are homologous and analogous traits? Explain with example.

ÂýàÙ-vw	 Ï×Ùè ¥æñÚU çàæÚUæ ×ð´ ¿æÚU ¥¢ÌÚU çÜç¹°Ð			   [1+1+1+1=4]

	 Write four differences between artery and vein.   
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¥Íßæ 

OR

	 Üñ´ç»·¤ ¥æñÚU ¥Üñ´ç»·¤ ÂýÁÙÙ ×ð´ ¿æÚU ¥¢ÌÚU çÜç¹°Ð

	 Write four differences between sexual and asexual reproduction.

ÂýàÙ-vx	 çÙ`Ù Üß‡ææð´ ·¤æð ¥`ÜèØ °ß¢ ÿææÚUèØ Âý·ë¤çÌ ·ð¤ ¥æÏæÚU ÂÚU ÂëÍ·÷¤ ·¤èçÁ°Ð §Ù·ð¤ 

ÚUæâæØçÙ·¤ Ùæ× Öè çÜç¹° Ñ			   [1+1+1+1=4]

	 (i)	 CuSO4	 (ii)	 NaHCO3
	 (iii)	 NH4Cl	 (iv)	 CH3COONa	
	 Distinguish following salts on the basis of acidic and basic nature. 

Write their chemical names also :
	 (i)	 CuSO4	 (ii)	 NaHCO3

	 (iii)	 NH4Cl	 (iv)	 CH3COONa

¥Íßæ 

OR

	 çÙ`Ù ÁæðÇ¸Uæð´ ×ð´ âð ©Uâ Ìîß ·¤ô ÂãU¿æçÙ° çÁâ·¤æ ÂÚU×æ‡æé ¥æ·¤æÚU ÕÇ¸Uæ ãñU ÌÍæ §â·¤æ 

·¤æÚU‡æ Öè çÜç¹° Ñ			   [2+2=4]

	 (i)	 Mg (ÂÚU×æ‡æé â¢BØæ 12) Øæ Cl (ÂÚU×æ‡æé â¢BØæ 7) 

	 (ii)	 Na (ÂÚU×æ‡æé â¢BØæ 11) Øæ K (ÂÚU×æ‡æé â¢BØæ 19)

	 Identify the element that has the larger atomic radius in the pairs 
given below and write its reason also :

	 (i)	 Mg (atomic number 12) or Cl (atomic number 7)

	 (ii)	 Na (atomic number 11) or K (atomic number 19)

ÂýàÙ-vy	 ÅðURÜæòÙ ÕÙæÙð ·¤æ ÚUæâæØçÙ·¤ â×è·¤ÚU‡æ ß §â·ð¤ Îô ©UÂØæð» çÜç¹°Ð	 [2+2=4]	

	 Write chemical equations for the synthesis of Teflon and two uses 

of it.
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¥Íßæ 

OR

	 ŒÜæSÅUÚU ¥æòÈ¤ ÂðçÚUâ ÕÙæÙð ·¤æ ÚUæâæØçÙ·¤ â×è·¤ÚU‡æ çÜç¹°Ð ŒÜæSÅUÚU ¥æòÈ¤ ÂðçÚUâ ·ð¤ 

ç·¤â »é‡æ ·ð¤ ·¤æÚU‡æ ÇUæò@ÅUÚU §â·¤æ ©UÂØæð» ÅêUÅUè ãUçaïUØæð´ ·¤æð çSÍÚU ÚU¹Ùð ·ð¤ çÜ° ·¤ÚUÌð 

ãñ´U?			 

	 Write the chemical equation for preparing Plaster of Paris. For which 

property of Plaster of Paris, doctors used it to fix bones fracture?

ÂýàÙ-vz	 Âý·¤æàæ ·¤æ ÂÚUæßÌüÙ @Øæ ãñU? §â·¤æ âç¿˜æ çÙØ× çÜç¹° ß ÎñçÙ·¤ ÁèßÙ ×ð¢ ·¤æð§ü Îæð 

©UÎæãUÚU‡æ ÎèçÁ°Ð			   [1+2+2=5]

	 ÙôÅU Ñ		 ÎëçcÅUÕæçÏÌ çßlæÍèü ç¿˜æ ·ð¤ SÍæÙ ÂÚU çÙØ× ·¤è ÃØæBØæ ·¤Úð´U»ðÐ

	 What is reflection of light? Write the law with diagram and give any 

two examples in daily life. 

	 Note :	 Visually impaired students will describe the law in place 

of diagram.

¥Íßæ 

OR

	 Âê‡æü ¥æ¢ÌçÚU·¤ ÂÚUæßÌüÙ ç·¤âð ·¤ãUÌð ãñ´U? ç·¤ÚU‡æ ¥æÚðU¹ ·ð¤ âæÍ â×Ûææ§°Ð §â·¤è àæÌðZ 

çÜç¹°Ð				  

	 ÙôÅU Ñ		 ÎëçcÅUÕæçÏÌ çßlæÍèü ç·¤ÚU‡æ ¥æÚðU¹ ·ð¤ SÍæÙ ÂÚU ©UÎæãUÚU‡æ çÜ¹ð´»ðÐ

	 What is total internal reflection? Explain with ray diagram. Write 

conditions for it.

	 Note :	 Visually impaired students will write example in place of 

ray diagram.
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ÂýàÙ-v{	 (i)	 ÂýçÌÚUæðÏô´ ·ð¤ Ÿæð‡æè·ý¤× â¢ØæðÁÙ ·¤æð ÂçÚUÖæçáÌ ·¤èçÁ°Ð §â ãðUÌé çßléÌ÷ ÂçÚUÂÍ 

¹è´ç¿°Ð			 

	 (ii)	 °·¤ çßléÌ÷ ÂçÚUÂÍ ×ð´, 10 W ÂýçÌÚUæðÏ ·ð¤ çâÚUô´ ÂÚ 5 ßæðËÅU ·¤æ çßÖßæ‹ÌÚU 

¥æÚUæðçÂÌ ç·¤Øæ ÁæÌæ ãñUÐ §â×ð´ âð ÕãUÙð ßæÜè ÏæÚUæ ·¤è »‡æÙæ ·¤èçÁ°ÐU 	 [2+1+2=5]

	 ÙôÅU Ñ		 ÎëçcÅUÕæçÏÌ çßlæÍèü Ÿæð‡æè·ý¤× â¢ØæðÁÙ ×ð´ çßléÌ÷ ÂçÚUÂÍ ·ð¤ SÍæÙ ÂÚU 

·ð¤ßÜ âê˜æ çÜ¹ð´»ðÐ

	 (i)	 Define series combination of resistances. Draw electric circuit for it.

	 (ii)	 In an electric circuit, a voltage of 5 volts is applied across 

resistance of 10 W. Calculate current flowing through it.

	 Note :	 Visually impaired students will write only formula in 

place of circuit diagram of series combination. 

¥Íßæ 

OR

	 (i)	 ¥æð× ·¤æ çÙØ× çÜç¹° °ß¢ V  ÌÍæ I¤ ·ð¤ Õè¿ »ýæÈ¤ ¹è´ç¿°Ð		

	 (ii)	 ç·¤ÜæðßæòÅU-ƒæ¢ÅUæ @Øæ ãñU? §â·¤æ ×æÙ ÁêÜ ×ð´ çÜç¹°Ð

	 ÙôÅU Ñ		 ÎëçcÅUÕæçÏÌ çßlæÍèü V  ÌÍæ I ·ð¤ Õè¿ »ýæÈ¤ ·ð¤ SÍæÙ ÂÚU »ýæÈ¤ ·¤è 

Âý·ë¤çÌ çÜ¹ð´»ðÐ

	 (i)	 Write Ohm’s law, and plot graph between V and I.

	 (ii)	 What is kilowatt-hour? Write its value in joule.

	 Note :	 Visually impaired students will describe nature of graph 

in place of the V and I graph.
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ÂýàÙ-v|	 (i)	 ÖÁüÙ ¥æñÚU çÙSÌæÂÙ ×ð´ ÌèÙ ¥¢ÌÚU çÜç¹°Ð 		  [3]

	 (ii)	 çÙ`Ù ¥çÖç·ý¤Øæ¥æð´ ·ð¤ çÜ° ÚUæâæØçÙ·¤ â×è·¤ÚU‡æ çÜç¹° Ñ	 [1½+1½=3]

		  (a)	 ÜæðãðU ·¤è ÁÜßæcÂ ·ð¤ âæÍ ¥çÖç·ý¤Øæ

		  (b)	 ·ñ¤çËâØ× ·¤è ÁÜ ·ð¤ âæÍ ¥çÖç·ý¤Øæ

	 (i)	 Write three differences between roasting and calcination.

	 (ii)	 Write chemical equations for the following reactions :

		  (a)	 Reaction of iron with water vapour

		  (b)	 Reaction of calcium with water

¥Íßæ 

OR

	 (i)	 çÙ`Ù ¥çÖç·ý¤Øæ¥æð´ ·¤æð Âê‡æü ·¤èçÁ° Ñ			   [1½+1½=3]

		  (a)	 N2+3H2 ...........450 oC–500 oC
200 atm

		  (b)	 Zn(s) + 2NaOH »×ü   .............. + H2­­­­↑

	 (ii)	 ÚUæâæØçÙ·¤ »é‡ææð´ ·ð¤ ¥æÏæÚU ÂÚU ÏæÌé °ß¢ ¥ÏæÌé ×ð´ ÌèÙ ¥¢ÌÚU çÜç¹°Ð	 [3]

	 (i)	 Complete the following reactions :

		  (a)	 N2+3H2 ...........450 oC–500 oC
200 atm

		  (b)	 Zn(s) + 2NaOH Heat   .............. + H2­↑­

	 (ii)	 Write any three differences between metals and non-metals  

	 with respect to their chemical properties.
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ÂýàÙ-v}	 (i)	 ç·¤‹ãUè´ Îæð ÂæÎÂ ãUæò×æðüÙô´ ·ð¤ Ùæ× ß ©UÙ·ð¤ °·¤-°·¤ ·¤æØü çÜç¹°Ð 	 [1½+1½=3]

	 (ii)	 çÙ`Ù ·¤æð ÂçÚUÖæçáÌ ·¤ÚU ÂýˆØð·¤ ·¤æ °·¤-°·¤ ©UÎæãUÚU‡æ çÜç¹° Ñ	 [1½+1½=3]

		  (a)	 ÂýçÌßÌèü ç·ý¤Øæ

		  (b) 	 °ðç‘ÀU·¤ ç·ý¤Øæ

	 (i)	 Write any two plant hormones and their one function of each.

	 (ii)	 Define the following and write one example of each :

		  (a)	 Reflex action

		  (b)	 Voluntary action

¥Íßæ 
OR

	 (i)	 ×æÙß ·¤è ç·¤‹ãUè´ Îæð ¥¢ÌÑdæßè »ý¢çÍØô´ ·ð¤ Ùæ× ß ©UÙ·ð¤ °·¤-°·¤ ·¤æØü çÜç¹°Ð 	

	 (ii)	 çÙ`Ù ·¤æð ÂçÚUÖæçáÌ ·¤ÚU ÂýˆØð·¤ ·¤æ °·¤-°·¤ ·¤æØü çÜç¹° Ñ	

		  (a)	 Áæ§Ü×

		  (b)	 RÜæð°×

	 (i)	 Write names of any two endocrine glands of human and their 
one function of each.

	 (ii)	 Define the following and write one function of each :

		  (a)	 Xylem

		  (b)	 Phloem
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